
Horizontal multiplication

Math in English

Multiply the following numbers

1 66 =× 6 4 =× 2 6 =×

5 6 =× 10 6 =× 7 6 =×

6 2 =× 0 6 =× 6 1 =×

4 6 =× 6 7 =× 9 6 =×

6 0 =× 6 9 =× 6 5 =×

6 6 =× 6 3 =× 6 8 =×

8 6 =× 3 6 =× 6 10 =×



Horizontal multiplication

Math in English

Multiply the following numbers

1 66 =× 6 244 =× 2 126 =×

5 306 =× 10 606 =× 7 426 =×

6 122 =× 0 06 =× 6 61 =×

4 246 =× 6 427 =× 9 546 =×

6 00 =× 6 549 =× 6 305 =×

6 366 =× 6 183 =× 6 488 =×

8 486 =× 3 186 =× 6 6010 =×


